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QUESTION 1

Which configuration change on the physical infrastructure is required when deploying NSX?
A. Increase the MTU size on the physical switches

B. Enable multicast when the control plane mode is set to unicast

C. Disable spanning tree protocol

D. Enable IGMP snooping when the control plane mode is set to multicast

Correct Answer: A

QUESTION 2

An organization requires a high performance firewall as part of an NSX deployment. What is the minimum NSX Edge
Services Gateway configuration that would be suitable for the organization\\'s requirements?

A. X-Large

B. Quad-Large
C. Large

D. Compact

Correct Answer: B

QUESTION 3

Which option shows an advantage of implementing logical firewalls in NSX?

A. NSX allows segmentation of virtual machines based upon VM names or user identity.
B. NSX provides traffic forwarding between layer 2 broadcast domains.

C. NSX allows virtual machine traffic to follow multiple paths to a specific destination.

D. NSX provides the ability to provide IPv4 and IPv6 dual stack configuration.

Correct Answer: A

QUESTION 4
Which is not a prerequisite to upgrade vCloud Network and Security Virtual Wires to Logical Switches?

A. vCloud Network and Security Manager has been upgraded to NSX Manager.
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B. vShield Data Security has been uninstalled.
C. NSX Controllers have been deployed.
D. The NSX Manager has been configured with the same IP as the vCloud Network and Security Manager.

Correct Answer: C

QUESTION 5

A company wants to deploy VMware NSX for vSphere with no PIM and no IGMP configured in the underlying physical
network. This company also must ensure that non-ESXi hosts do not receive broadcast, unknown unicast or multicast
(BUM) traffic.

Which replication mode should the logical switches be deployed with?

A. Unicast Replication Mode

B. Multicast Replication Mode

C. Hybrid Replication Mode

D. Transport Zone Mode

Correct Answer: A
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